Current Events
Arthur Golden is defending his film version of his book. He’s being criticized for accuracy of his costumes and dancing. It’s worth bearing in mind that Hamlet makes poor Danish history and that Lawrence of Arabia grossly oversimplifies the Middle East, Golden wrote. Name this film.

Answer: Memoirs of a Geisha (page 3a Dec 27 05)
.










          .
Hurricanes Katrina and Rita damaged many offshore oil and gas platforms. Requests have soared to 40 this year to donate the rigs. What have these rigs been requested to be used for?

Answer: As artificial reefs for fish habitats. (pg 2a Dec 27 05)

.









                      .

On average, adult literacy remains virtually unchanged since 1992, with 30 million people struggling with basic reading tasks. While adults made some progress in literacy, from 1992 to 2003 they made no improvements in their ability to read newspapers or books. One group has stunned educators in their reading proficiency has declined. Name this group:
Answer: College Graduates (pg2a Dec 26 05)

.










         .

Geography

The Great Barrier Reef of Australia is formed primarily of what material?

Answer: Coral (pg 795)
.










      .

What was the name of the Cambodian Government that killed 38% of the country’s population between 1975 and 1979?

Answer: The Khmer Rouge (pg.737)
.










     .

What South East Asian country was used as a buffer state by British and French colonial powers during the colonial era?

Answer: Siam or Thailand (pg. 743)

.










     .

U.S. History

Which 1902 amendment to the US Constitution gave the US the right to intervene in Cuban affairs? (456)
Answer: The Platt Amendment
.










    .

What 1882 US law suspended Chinese immigration to the United States for ten years? (458)

Answer: The Chinese Exclusion Act

.










     .

What US Secretary of State wrote the notes that led to Open Door Policy concerning international trade with China? (458)

Answer: John Hay

.










     .

Literature

In “Spring in Fialta,” by Vladimir Nabokov, when the narrator met Nina in a Paris railway station, he introduced her to someone he describes as “totally dissimilar.” Who was that someone?

Answer: His wife (410)
In “Paper Garden,” by Jerome Wilson, what did Sonny Buck use to make the art work which Miss Marion greatly admired?

Answer: Toilet paper (612) 








_____




In “ I Stand Here Ironing,” by Tillie Olsen, Emily invented the word Shoogily, which the younger children inherited. What did the word mean?
Answer: Comfort (464)
American Government

Who was the Chief Justice of the Supreme Court who wrote the Court’s opinion in the case of Marbury vs. Madison, 1803?

Answer: Chief Justice John Marshall

Most cases reach the Supreme Court by ‘Writ of Certiorari,” which is a Latin phrase meaning what?

Answer: To be made more certain

What is the title of the person who represents the federal government in all cases to which it is a party in the Supreme Court?

Answer: The Solicitor General

Shakespeare
In Richard II, in his defense of the charges made against him, Mowbray confessed to an offense against John of Gaunt for which he said he had been pardoned. What was the offense?
Answer: H0e had tried to take the life of John of Gaunt (the Duke of Lancaster) by laying an ambush for him.

In Troilus and Cressida, what Trojan prisoner was proposed to be given by the Greeks in exchange for Cressida?
Answer: Antenor

In Troilus and Cressida, what do Ulysses and Nestor decide is the way to choose the Greek warrior to accept the Trojan challenge to single combat?

Answer: Lottery

Vocabulary

Compliance:
a. Conformity



b. Complication



c. Patience



d. Requirement




Answer: a. conformity

Affidavit:
a. A written statement made under oath



b. Unofficial consent



c. Official endorsement



d. Formal memorandum




Answer: a. a written statement made under oath

Celestial:
a. Cellular



b. Climactic



c. Brilliant



d. Heavenly




Answer: d. heavenly

Team Choice

Literature: In “The Daughters of the Late Colonel,” by Katherine Mansfield, what is the source of the music which the sisters hear outside in the street?

Answer: A barrel organ

American Government: What amendment to the Constitution contains provisions fir the regulation of state militia and the right of people to “keep and bear arms?”

Answer: The Second Amendment

American History: What wartime conference between the World War II allied leaders (Roosevelt, Churchill, and Stalin) helped shape the post-war world, as well as create future conflict between the US and the Soviet Union?

Answer: The Yalta Conference 

Toss-Up
World Geography

What is the primary threat to coral reefs in Southeast Asia?

Answer: Fishing (with poison and dynamite)

Second Round
Chemistry

A membrane which allows solvent but not solute to pass through it is referred to as what kind of membrane?
Answer: Semi-permeable

If one places equal volumes of a solution and pure solvent on the opposite sides of such a membrane, what will happen as time passes?

Answer: The volume of the solution will increase, and that of the solvent will decrease.

The flow of solvent into a solution through such a membrane is called what?
Answer: Osmosis 

Art History
Who painted American Gothic?

Answer: Grant Wood

Who painted Guernica?

Answer: Pablo Picasso

Who painted Nude Descending a Staircase?

Answer: Marcel Duchamp

Sports
He set a NCAA record with his 34th 100-yard rushing game and scored 3 touchdowns leading his team to victory in the Motor City Bowl. He is only the fourth player to rush for 6,000 career yards. Name him.

Answer: DeAngelo Williams of Memphis (p. 1c, December 27, 2005

This longtime driver announced plans to retire from NASCAR Nextel Cup racing at the end of the season, then reconsidered and agreed to stay on for one more season. Name him.

Answer: Mark Martin of Batesville (page 1c, December 26, 2005)

This player holds the NFL single-season record for most combined yards gained – rushing and receiving. Name him.

Answer: Marshall Faulk, with 2,429 yards for the St. Louis Rams in 1999

Mathematics
Solve -3x + 17 > 80

Answer: x < -21
Find two numbers such that the sum of the numbers is 6 and the difference of the numbers is 4.

Answer: 5 and 1

Simplify 3x(2x squared + 4x -5)-2x squared (3x +6)

Answer: -15x

Biology
What is the scientific name (genus and species) of modern man?

Answer: Homo Sapiens
In land plants, nutritive tissue, protective tissue, and the embryo proper collectively constitute a structure called what?

Answer: seed

Some terrestrial animals, like frogs, exchange gases through their skin. But adult frogs and humans have another respiratory organ that was a major adaptation for surviving on land. What is this lobed organ?

Answer: lungs

Physics
The frequency of a sound wave determines what property of the sound?

Answer: pitch

The amount of work required to stop a horizontally moving object is equal to what property of the object?

Answer: Its kinetic energy

If an object is placed at focal point of a concave mirror, where is the image formed?

Answer: at infinity

World History
Which international organization attempts to resolve disputes between trading partners, and also loans money to impoverished nations?
Answer: the WTO (World Trade Organization) (847)

In 1993, twelve European nations formed what organization in order to adopt a common foreign policy, drop trade barriers, and use a common currency?

Answer: the E.U. (European Union) (847)

Kim Il Sung, who died in 1994, was the leader of which communist Asian nation?

Answer: North Korea (848)

Team Choice
Chemistry: When more than one valid Lewis dot structure can be written for a molecule, the resulting electronic structure is often considered to be an average of the possible structures. This situation is called what?

Answer: resonance (p. 377)

Mathematics: Amy bought a stereo on sale for $176.48. If the stereo was discounted by 35%, what was the price of the stereo before the discount? Give your answer correct to the nearest cent.

Answer: $271.51

Physics: Surface tension results due to what type of force?
Answer: cohesive force

Toss Up
Art History: Although his paintings were totally abstract, Mondrian had started out by painting many pictures of what recognizable form?

Answer: trees (p. 471)
PAGE  
3

